0932385 劉俊緯 應物系三年甲班
Pedrotti OPTICS: Problem 14-14
A light beam passes consecutively through (1) a linear polarizer with TA at 
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 clockwise from vertical ,(2) a QWP with SA vertical ,(3) a linear polarizer with TA  horizontal , (4) a HWP with SA horizontal, (5) a linear polarizer with TA vertical.  What is the nature of the product light?

(1) a linear polarizer with TA 
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  linear  polarizer  at  
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(2) a  QWP  with  SA  vertical
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(3) a linear polarizer with TA horizontal
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(4) a  HWP  with  SA  horizontal
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(5) a  linear  polarizer  with  TA  vertical
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What is the nature of the product light?
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Ans: no light emerges
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